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SECTION – ‘A’ (carry one mark each)
1. Given a rational number [image: image6.png]


. This rational number can also be known as:
(a) [image: image8.png]A natural number






(b) [image: image10.png]a whole number




(c) [image: image12.png]A fraction







(d) [image: image14.png]a real number




2. [image: image16.png]



(a) [image: image18.png]A polynomial



                                      
(b) [image: image20.png]not a polynomia



l
(c) [image: image22.png]Constant polynomial





(d) [image: image24.png]polynomial of degree zero




3. [image: image1.png]


Ray OC stands on the line AOB, OP & OQ are bisectors of [image: image26.png]£BOC



 & [image: image28.png]£AOC



 respectively. Then [image: image30.png]£POQ



 is:
(a) [image: image263.png][image: image32.png]90°








(b) [image: image34.png]100°





      Q            C       P
(b) [image: image36.png]45°



 



(d) [image: image38.png]120°
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   O
         B
4. In the given fig., the ratio of [image: image40.png]£ABD:£ACD



 is:

           A
(a) [image: image42.png]


                            

            
(b) [image: image44.png]




            D
(c) [image: image46.png]







(d) [image: image48.png]



            B

            C
5. In the given fig., L||M & AP & PC are the interior bisector angles, then [image: image50.png]£PAC



:
           A

          B
     [image: image52.png]



(a) [image: image54.png]100°







(b) [image: image56.png]80°









1
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(c) [image: image58.png]90°








(d) [image: image60.png]95°
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      [image: image62.png]



6. In the given fig., [image: image64.png]ar(ACB) = ar(ADB),



 then:

       C




          D
(a) [image: image66.png]






(b) [image: image68.png]€O =>0D




 A     P
   O   Q     B
(b) [image: image70.png]CO < 0D







(d) [image: image72.png]CO=0D




        
7. In the given fig., [image: image74.png]¢DBC

57, LBA

45°



,
        A

 D     D
then [image: image76.png]







           45°
(a) [image: image78.png]45°








(b)[image: image80.png]55°




(c) [image: image82.png]100°







(d)[image: image84.png]80°




               55°






         B

  C 
8. In a grouped frequency distribution, the class intervals are [image: image86.png]—10,11 - 20,21 - 30,




the class width is:
(a) [image: image88.png]5.5



                                                            (c) [image: image90.png]10




(c) [image: image92.png]







(d) [image: image94.png]11




9. Representation of [image: image96.png]


 in the form of [image: image98.png]


 , [image: image100.png]q=0



 & [image: image102.png]qez



 is:
(a) [image: image104.png]10








(b) [image: image106.png]100




(c) [image: image108.png]18








(d) [image: image110.png]55




10. If [image: image112.png]x+-=8



, then value of [image: image114.png]


 is:
(a) [image: image116.png]







(b) [image: image118.png]66




(c) [image: image120.png]62



 




(d) [image: image122.png]none of these




11. ABC is an isosceles triangle with AB=AC, altitudes are drawn to the sides AB & AC from vertices B & C. One altitude CF is found to be [image: image124.png]


 If BC=5cm. Find EF, where BE is altitude to side AC.
(a) [image: image126.png]






(b) [image: image128.png]



(c) [image: image130.png]






(d) [image: image132.png]none of these




12. Slant height of a cone is [image: image134.png]34cm



 & base diameter is [image: image136.png]32cm



, then height of the cone is:
(c) [image: image138.png]33cm





(b) [image: image140.png]25cm





(c) [image: image142.png]30cm





(d) [image: image144.png]27cm




SECTION – ‘B’ (carry 2marks each)
13. Rationalize the denominator [image: image146.png]


 .
14. Find the value of [image: image148.png]


 if [image: image150.png]x+1



 is a factor of [image: image152.png]4y’ —3x" +4x+k



.
              B
           D
15. In fig., [image: image154.png](B <sAand£C < 4D



. 




        O
Show that [image: image156.png]AD < BC



.





           A

         C
16. Show that the line segment joining the mid-points of the two sides of a triangle is parallel to third side.
17. If two circles intersect at two points, prove that their centre lie on the perpendicular bisector of common chord.
18. A cuboidal water tank is [image: image158.png]


 long, [image: image160.png]5m



 wide & [image: image162.png]9m



 deep. How many litres of water can it hold?
19. The points scored by the kabaddi team in a series of matches are as follows:
[image: image164.png]17,2,7,27,15,5,14,8,,10, 24,48,10,8,7, 18, 28



. Find the median points scored by the team.

SECTION – ‘C’ (carry 3marks each)
20. Represent [image: image166.png]


 on the number line.





         

           
21. Factorize: [image: image168.png]2y’ +y*—2y—1



.
22. If two intersecting chords of a circle make equal angles with the diameter passing through their points of intersection, prove that the chords are equal. 



                    P
                          T

23. In fig., the side QR of [image: image170.png]APQR



 is produced to a point S. If the bisectors of

[image: image172.png]£PQR & LPRS



 meet at point T, the prove that [image: image174.png]£QTR= 240?}2



 .
          Q

           R

      S

24. In fig., [image: image176.png]


 
          A


   E
Show that [image: image178.png]


.





            B

            D
            C

25. Show that if the diagonals of a quadrilateral are equal & bisect each other at right angles, then it is a square.

26. In fig., [image: image180.png]ABC & ABD



 are two triangles on the same base AB. 
         C
If line segment CD is bisected by AB at O, 


      A
     O
   B
show that[image: image182.png]ar(ABC) = ar(ABD)



.




               D
27. (a) If the non-parallel sides of a trapezium are equal, prove that it is cyclic.
(a) Prove that a cyclic parallelogram is a rectangle.
28. The capacity of a closed cylindrical vessel of height [image: image184.png]im



 is [image: image186.png]154litres.



 How many square meter of metal sheet would be needed to make it.
29. Find the mean salary [image: image188.png]60



 workers of a factory from the following table.
	[image: image189.png]Salary (in Rs.)




	[image: image190.png]3000




	[image: image191.png]4000




	[image: image192.png]5000




	[image: image193.png]6000




	[image: image194.png]7000




	[image: image195.png]8000




	[image: image196.png]9000




	[image: image197.png]10000




	[image: image198.png]Total





	[image: image199.png]No.of workers




	[image: image200.png]16




	[image: image201.png]12




	[image: image202.png]10




	[image: image203.png]



	[image: image204.png]



	[image: image205.png]



	[image: image206.png]



	[image: image207.png]



	[image: image208.png]60






30. Verify that [image: image210.png]D2+ (y=2)%+(z -7





SECTION – ‘D’ (carry 4marks each)
31. In a right triangle ABC, [image: image212.png]90°,AM = BM &DM = CM



. Show that:
(i) [image: image214.png]AAMC = ABMD





  D
  
     A
(ii) [image: image216.png]






    M
(iii) [image: image218.png]



(iv) [image: image220.png]CM =-AB

Z






  B

     C
32. A circular park of radius [image: image222.png]20m



 is situated in colony. Three boys, Ankur, Syed & David are sitting at equal distance on its boundary each having a toy telephone in his hands to talk each other. Find the length of string of each phone.
33. A village having a population of [image: image224.png]4000



, requires [image: image226.png]150litres



 of water per head per day. It has a tank measuring [image: image228.png]20m x 15m x 6m.



  For how much days will the water of this tank last?

34. In a city, the weekly observation made in a study on the cost of living index are given in the following table:
	[image: image229.png]Cost of living index




	[image: image231.png]140



-[image: image233.png]150




	[image: image235.png]150



-[image: image237.png]160




	[image: image239.png]160



-[image: image241.png]170




	[image: image243.png]170



-[image: image245.png]180




	[image: image247.png]180



-[image: image249.png]190




	[image: image251.png]190



-[image: image253.png]200




	[image: image254.png]Total





	[image: image255.png]No.of weeks




	[image: image256.png]



	[image: image257.png]10




	[image: image258.png]20




	[image: image259.png]



	[image: image260.png]



	[image: image261.png]



	[image: image262.png]52
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